AR ERERR (HILREFT)

[Frx2 7682 4H~2 7HAIED]

B uSv/h
- seses=z || e AlEH
X = 3l HES &

#h[X =BFh AIEERT | BESE SE7iE A=PE= SE76E A=pl=

- . o 0.10 0.12 0.12 0.12

ERIDEE EEIRE PRRE 50cm 0.1 0.10 0.1 0.10
(BRLLERER)

"E= | 50an 0.06 0.07 0.08 0.08

. o 0.11 0.11 0.11 0.12

B EER PRTRE 50cm 0.11 0.10 0.13 0.12

"E= | 50am 0.08 0.09 0.08 0.09

. Tan 0.11 0.12 0.12 0.11

=tEER | e 50cm 0.12 0.12 0.12 0.11

"E= | 50am 0.10 0.10 0.10 0.09

. Tan 0.12 0.13 0.12 0.12

weagss | TR 50cm 0.11 011 0.11 0.12

"E= | 50am 0.0 0.09 0.09 0.09

. o 0.12 0.12 0.12 0.12

JRERER | TR 50cm 0.11 0.10 0.10 0.10

HPAIERILER "E= | 50am 0.07 0.08 0.08 0.08

(EBLLIER7E) - Tan 0.15 0.14 0.20 0.14

B EBERE 50cm 0.16 0.14 0.18 0.13

"E= | 50am 0.07 0.08 0.06 0.08

. Tan 0.11 0.11 0.10 0.11

REREF PRRE 50cm 0.12 0.13 0.11 0.12

"E= | 50am 0.05 0.08 0.06 0.07

. Tan 0.10 0.14 0.14 0.07

ShoRam | TR 50cm 0.09 0.11 0.12 0.08

"E= | 50am 0.07 0.09 0.08 0.06

. Tan 0.14 0.15 0.10 0.11

yNDA =TT PRRE 50cm 0.13 0.14 0.11 0.11

"E= | 50an 0.08 0.09 0.08 0.09

. Tan 0.12 0.12 0.10 0.12

=T SHRER PRRE 50cm 0.12 0.13 0.10 0.11

"E= | 50am 0.08 0.09 0.10 0.09

. o 0.11 0.11 0.11 0.11

KHUREFR PRRE 50cm 0.11 0.09 0.10 0.10

"E= | 50am 0.06 0.08 0.06 0.07

AHRET - Tan 0.12 0.13 0.10 0.12

HERBER 50cm 0.15 0.14 0.12 0.13

RE=E 50cm 0.10 0.12 0.12 0.11

. Tan 0.10 0.11 0.13 0.13

LIERERR PRRE 50cm 0.11 011 0.12 0.14

"E= | 50am 0.07 0.08 0.09 0.08

_ Tcm 0.13 0.12 0.08 0.10

KEREFR PRRE 50cm 0.14 0.12 0.08 0.12

. "E= | 50am 0.07 0.08 0.07 0.07

LARH] — Tam 0.11 0.12 0.13 0.12

R EBERBFR 50cm 0.11 0.12 0.12 0.13

"E= | 50am 0.0 0.09 0.09 0.09

. o 0.12 0.12 0.10 0.11

SR ETR PRRE 50cm 0.13 0.12 0.13 0.13

"E= | 50am 0.0 0.09 0.09 0.09

. Tan 0.12 0.13 0.11 0.14

=2H samREF | e 50cm 0.12 011 0.10 0.14

"E= | 50am 0.0 0.10 0.00 0.10

. Tan 0.10 0.12 0.09 0.11

=Eiiza)) ommEss | R 50cm 0.10 0.12 0.10 0.10

"E= | 50am 0.08 0.08 0.00 0.07
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- seses=z || e AlEH
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#h[X =BFh AIEER | BESE SE7iE A=PE= SE76E A=pl=
. Tan 0.12 0.11 0.11 0.13
= AULIE] s LREFR | TR 50cm 0.11 011 0.11 0.14
HBE= | 50cn 0.08 0.08 0.08 0.08
. o 0.07 0.08 0.0 0.07
StARIAT hEHR AR PEE  —socn 0.0 0.08 0.0 0.08
"BE= | 50cn 0.0 0.08 0.07 0.07
. Tan 0.12 0.11 0.08 0.11
] HIGHEET PRRE 50cm 0.11 0.09 0.12 0.11
HBE= | 50cn 0.07 0.08 0.08 0.07
. Tan 0.11 0.12 0.12 0.10
AAHEETR PRRE 50cm 0.12 0.12 0.12 0.11
\ ®BE= | 50cn 0.07 0.07 0.08 0.07
EHAE] — Tam 0.09 0.09 0.09 0.08
A HRER 50cm 0.08 0.09 0.08 0.08
®BE= | 50cn 0.0 0.08 0.08 0.08
. Tan 0.13 0.12 0.13 0.14
IR FHAGEERH PRRE 50cm 0.12 0.13 0.15 0.13
RE=E 50cm 0.10 0.10 0.09 0.11
. Tan 0.10 0.11 0.10 0.10
ch R B RERR PRRE 50cm 0.09 0.10 0.09 0.12
HBE= | 50cn 0.08 0.09 0.0 0.08




